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180 (30 45 ) (15 30 ) 60 ;�	�∠ = − + − + =� � � � � �     180 45 15 120 .�
�∠ = − − =� � � �  
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31 2: ;
sin 60 sin 45 sin 75 sin 60 sin 45 sin 75
�� �	 �	

��	∆ = = � = =
� � � � � �
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51 4: .
sin120 sin15 sin 45 sin120 sin15 sin 45
�� �
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ABC∆ = = � = =
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1 10 ;�� �= =�  

2 1

sin 45 2
10 8.165 ;

sin 60 3
�	 �= = ⋅ = ≈

�
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3 1

sin 75 2 3
10 11.154 ;

sin 60 3
�	 �

+= = ⋅ = ≈
�
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4 1

sin15 2 3
10 2.989 ;

sin120 3
�
 �

−= = ⋅ = ≈
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5 1

sin 45 2
10 8.165 .

sin120 3
BC �= = ⋅ = ≈
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� 2 2 2 2 cos30 ,CO BO BC BO BC= + − ⋅ �   ����	� 
2 2 2 2

6 3 5 3 5

2 2

6

2 cos30 2 cos30

2 3 2 2 3 2 3 10
10 10 2 10 10 5.774 .

3 3 3 3 2 3
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 (��. ���.1): 

2 cos 60 8.165 0.5 4.082 ;
�
� �= = ⋅ ≈�
�           2 sin 60 8.165 0.5 3 7.071 ;

�
y �= = ⋅ ≈�
�                                                                            

3 11.154 ;B� �= ≈�                                         0;
�

y =  

3 5 cos30 11.154 8.165 0.5 3 4.082 ;


� �= − = − ⋅ ≈�
� �           

5 sin 30 8.165 0.5 4.082 .
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1 0.5 ( ) 0.5 (4.082 11.154) 7.618 ;
� �

� � � �= ⋅ + = ⋅ + ≈  

1 0.5 ( ) 0.5 (7.071 0) 3.536 ;
� �


 
 
 �= ⋅ + = ⋅ + ≈  

2 0.5 ( ) 0.5 (4.082 0) 2.041 ;
� 	

� � � �= ⋅ + = ⋅ + ≈  

2 0.5 ( ) 0.5 (7.071 0) 3.536 ;
� 	


 
 
 �= ⋅ + = ⋅ + ≈  

3 0.5 ( ) 0.5 (11.154 0) 5.577 ;B 	
� � � �= ⋅ + = ⋅ + ≈  

3 0.5 ( ) 0.5 (0 0) 0;
� 	


 
 
= ⋅ + = ⋅ + =  

4 0.5 ( ) 0.5 (4.082 4.082) 4.082 ;
� 


� � � �= ⋅ + = ⋅ + ≈  

4 0.5 ( ) 0.5 (7.071 4.082) 5.577 ;
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 �= ⋅ + = ⋅ + ≈  

5 0.5 ( ) 0.5 (11.154 4.082) 7.618 ;B 

� � � �= ⋅ + = ⋅ + ≈  

5 0.5 ( ) 0.5 (0 4.082) 2.041 ;B 


 
 
 �= ⋅ + = ⋅ + ≈  

6 0.5 ( ) 0.5 (4.082 0) 2.041 ;

 	

� � � �= ⋅ + = ⋅ + ≈  

6 0.5 ( ) 0.5 (4.082 0) 2.041 .

 	


 
 
 �= ⋅ + = ⋅ + ≈  
 
 �i yi i�  i i� �  i i
 �  

1 7.618 3.536 10 76.180 35.355 
2 2.041 3.536 8.165 16.667 28.868 
3 5.577 0 11.154 62.201 0 
4 4.082 5.577 2.989 12.201 16.667 
5 7.618 2.041 8.165 62.201 16.667 
6 2.041 2.041 5.774 11.785 11.785 
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241.234 109.341
5.216 ; 2.364 .

46.246 46.246
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:  5.216 , 2.364 .
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